BblHNATaAHUE

YmMeHbllaemoe 85 32 60 73 30
Bbiuntaemoe 24 8 32 9 68
PasHocTb 61 24 28 64 12
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CJ1I0XKEHUNE

Cnaraemoe 4 14 16 49 56
Cnaraemoe 24 20 14 51 9

Cymma 28 27 30 100 65
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CJ1I0XKEHUNE

Cnaraemoe 17 34 56 35 45
Cnaraemoe 19 20 4 15 40
Cymma 36 54 60 50 385

M Y () L2V oy (D
& = g\ o o
7t ‘ | t
P S (W e Bt -~ s o ~fpm:om



BblHNATaAHUE

YMeHbliaemoe 58 29 60 43 26
Bbiuntaemoe 40 9 17 7 18
PasHocTb 18 13 43 36 8
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CJ1I0XKEHUNE

Cnaraemoe 9 14 46 49 25
Cnaraemoe 19 27 14 5 40
Cymma 28 34 60 54 65
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CpaBHMU:

3am 1 cm
38 cM 1 MM
6M3am
4 om

1M3c™m
31 cm
60 am
44 cm

100 cm
O cm






BblHNATaAHUE

YmeHbliaemoe 40 29 30 45 20
Bbluutaemoe 12 5 17 9 16
PasHocTb 18 17 13 36 10
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CpaBHMU:;

1 aM 3 c™m
6 cM 4 MM
/ M2 am
5 Am

1mM3cm
64 c™m
10 am
95 CM
10 am
4 cm
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Cocuuran




CpasHu

e3M4am <4mM3 M
e 8 MM > 8 cMm

e |6 MuH < 196 MHUH

e 50 cm = S5 1M
e 10x3 =3x10
IR X2 T = 21X 8

*7xX4 > 6x4
9 X3 193




